Telescopic Tubes (Tube Only)

Bushing Block

Part Number | MT-MR-TT-BB-1016-0500-0132

Standard Finish 02 - No Finish
Available Finish(es) N/A

Recommended Tools | Tool Kit 1

Standard Material | UHMW (Ultra High Molecular Weight Polyethylene)

Size 5”x1.5" x 10.25” (127.0mm x 38.10mm x 260.35mm)
Weight | 2.40lbs (1.09kg)
Hole Size 11/16" (17.46mm)

Recommended | 5/8”-11Thread Grade 8 Bolt, 4” Long
Hardware 5/8" SAE Zinc-Plated Washer
5/8"-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 101.6mm Long, Class 10.9 Bolt

M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

For More Info | www.ModTruss.com

(b]

Electrical Hazard Flammability Made To Order

TR

EX

PL

JH

Standard Material | A36 Low Carbon Steel
Standard Finish | 10 - Zinc Clear
Available Finish(es) 10-12, 20-33

Recommended Tools | Tool Kit 1
For More Info | www.ModTruss.com

Hole Size | 11/16” (17.46mm) | 1.03" (26.19mm) | 2.25 (57.15mm)

Recommended 5/8"-11 Thread Grade 8 Bolt, 2.5" Long | 5/8” SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware (M16 x 2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

MT-MR-TT-TT-1200-1200-4800 11.50" x 11.50" x 48" 32.42lbs
48" Telescopic Tube (Tube Only) (292.10mm x 292.10mm x 1219.20mm) (14.70kg)*
MT-MR-TT-TT-1200-1200-7200 11.50" x 11.50" x 72" 45.22Ibs
72" Telescopic Tube (Tube Only) (292.10mm x 292.10mm x 1828.80mm) (20.51kg)*
P O ©
OEQ*
Rpe
Electrical Hazard Made To Order Customizable Reusable Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending
115

PA

HG

AC

HW

TK

MH

FH

GL



XXX-0021-00¢ [-LL-LL-dWN-LW
39NL DIdODSI 1AL @] oce 0z54]
A NOISIA3Y — ﬁom.N L oo'e
| sloe/sl/é ﬁ oo 1 . .
(E S & ﬂf »
05°€9]
/k/ 0S¢ [61°9¢]
/ g0LQ
S1°£6]
? ST Ns
, o sodl oo o
wou. _mw @ A o ol [olzet]
1V1d WOL11O4 0 ! o ol 0SLL wo
o m,v OO o [e] OO\ n_mu
o v g
[o1z67] S
¢ ? (iv13a) 051 =
: © 31v1d WOLLOH S0
@ L v~
02 1-002 1002 I -LEL-AWIN |0l © Y w
801-00 1-00T L-LI-LI-yW-LW 801 o mv e
960-00C1-00C | -L1-11-IW-IW 96 @ , oo,
¥80-00C 1-00C | -LL-11-dW-LW W8 P mv 2
¢/0-00C1-00C L -LL-11-dW-LW WL i =
090-002 1-002 L-LL-LL-dW-LW .09 @ ) m
870-00C 1-00C | -LL-11-dW-LW 87 @ , e
VWN 9€0-00C1-00C L -11-11-dW-IW 9€ m,v o
o0 m_ JIGWNN LavVd HIONI1 o mv
e o ¢ & :
wlw = : | s€092]
< . szol
E : ! *
3 . @ © ° ° % [0zl
o
S = ) - mv o o 00
‘= |
W = ¢ w0e | mv oo_%_m L T [¥1v8]
m ¢ ¢ leey
= O 0510-0050-520L-88-LL-4W-IW
— 5 z891] NOO18 ONIHSNG LL
2 2 €999
S
7}
v
o =€ —~ - <L (= S - - - —




	Telescopic Tubes Spec Sheet_ModTruss-1
	Telescopic Tubes Spec Sheet_ModTruss-2

